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The internal combustion engine still dominates how work is done and the way goods and people move about the pla-
net. We know better than ever the nasty and accelerating affect exhaust spewed from gas-powered vehicles is having on 
the health of our planet and ourselves. Electric Tractor makes zero-emission, off-road electric utility tractors that clear the 
air and quiet the workplace 
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This article describes the modified algorithm for choosing the threshold values for stages of multithreshold decoding. 
The algorithm allows to pass decoding stages that leads to reduction of decoding time 
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  : f –   ; si – ,    

; 
is
–    ; Tmax –     ; psz –  -

 ,    ; ps –       -

; i –  ,    ; j –   ; tj – 

 ,     ; Tmin–    -

 . 

    ps,    ,   

  :  

 1:   f = 0 (   ,  f = 1);   si = 1;  

   
is

= Tmax;    psz = 0, ps = 0;  ,   

  i = 1; j = 1. 

 2:    tj,    . 

 3: )  tj  
is

,   ;   f = 1;  

 )  j < k,  j = j + 1     2. 

 4: )  f = 1,      
1

1
i is s ,  –   -

 t >Tmin ,  
1is

= t,   psz =
is
– t – 1,  –   ,  psz 

=
is
– Tmin – 1; 

 ) ps = ps + psz, psz = 0; 

 )  si+1  Tmax – Tmin + 1,      si+1 = si + 1,   

 2,    . 
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.    psav 

     

,     
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 1 –    psav, % 

  
   

5 7 9 

1 52 66 74 

2 41 58 68 

3 32 51 63 

4 24 44 56 


